Lower Shell (9)

o i" /2

Little Arm 245 (13)

Big Arm 500 (12)

Shell upper (10)

Support Arm (8)

Landing gears(11)

Screw M3x18 (3)

Support Arm (8)

Nut M3 (1)

Screw M3x12 (4) Pillar Attachment 3 (7)




Support Arm (8) —

Screw M3x25
M3 Nut (1)

Landinggears spacer (6)

M3x12 Screw (4)

Support Arm (8)

Screw M3x18 (3)

Pillar Attachment 3 (7)



Screw M3x12 (4)

Big Arm 500 (12)

Little Arm 245 (13)




